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All of them are like the n128 in regards to pay from the choicest

Overview

The X773 explains that the reason the 2°>1 of 11" &'"1 are referred to as N1ax
1s because they are comparable to the maX of our 7awn who are required to
pay from av°n.' These 0°p>m are also required to pay 2v°mn.

Mo0IN anticipates a question:
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And even though the nm791n of the max of our 7w also pay from aun;
why is it necessary to designate these P12 of 1"1 X" as MAX, in order that we
understand that they pay from 2v°n?! We see that m771n also pay 2vnn!

MmooIn answers, that -
$209105 NIDWNT SPT NN XY MAN INY NPT IND N 2N DIPN Yo

Nevertheless concerning these P17, that are not mentioned in the 71w, if
we would not refer to them as n2ax, it would not be known that they are
required to pay from aw .’

Summary
It is necessary to designate the 2P of 1" X" with the name NM2X so that

it is clear that they are similar to the maX of the mwn in regards to paying
from 200

Thinking it over
Is there any connection between the term M2aX and the obligation to pay from
20°n?

" This is clearly stated in our 73wn. There is no such clarification concerning the 2°p*i» of 1" X",

* It is understood that the 7910 of the N1ax '7 pay 2wy since they are the M7 of these nax. However,
concerning the 0°p>t1 of 11" X" who are not related to the Max '7, it is not certain that they pay 2v>»n. Once
we refer to them as MaR, however, then it is evident that the reason we refer to them as N1aX is to teach us
that they pay v nn just as the MR of the miwn. See ‘Thinking it over’.

TosfosInEnglish.com



